A PROFESSIONAL EXAMINATION BOARD
[Pyzerien Middle School Teacher Eligibility Test - 2018
5th Mar 2019 2:30 PM

Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / T e & wuH, ey Th RN we § ford ueR ot
Torifa 1 areE

1. All the above / Judad Taft

2. Only Peer tutoring / Fad TgHHl Rreqor

3. Only Cooperative learning / Faq ﬂ_&'a?—l'\ﬁ e

4. Only Collaborative learning [Had TEARTED fRIem

Correct Answer :-

« All the above / SUgad Tuft

2) A person with capacities to respond appropriately to the moods, temperaments, motivations, and desires of other people have good

intelligence. / AFIGRITSHY, THT, URUMST 3R 37 &I Pt g=o13it W Sfera ufafehan 37 &Y arvyar ara aafda o erss1 WHIE BTl
1. Intrapersonal / KLNERIESEY
2. Interpersonal / Jqdafads

3. Naturalist / Fepfcrare
4. Spatial / EJIea

Correct Answer :-

« Interpersonal / 3fAATIHRID

3) What type of learner is a child who learns best by taking notes during class and reading them aloud before a test? / Yeh =T fFa R &1

Rigmff 3, <t e & R e AH 3R Ten A tgd F TR § U IgaR Hwar g2
1. Reading/writing learner / Uo1/arRa fRremefffia= arem)

2. Visual learner / %0 fRramff

3. Cognitive learner / ST fR1emff

4. Descriptive learner / TUiTE® fRremeff

Correct Answer :-

« Reading/writing learner / B/ ﬁT&ﬂ"’-ﬁ@'@ﬁ drail)

4) What type of parenting style is characterized by giving no rules or structure to children? / = B ?ﬁé frrr oS A A P ueR
P AFYHTTS el BT fIBwar Fars sl 82

1. Enmeshed / 3TN g3{1

2. Permissive / &aﬂﬁw

3. Authoritative / 3TTHHTRD
4. Authoritarian / SfIHRATG!

Correct Answer :-

« Permissive / 3FIAIGH

5) What phenomenon is experienced when one knows a person’s name but cannot remember it in the moment? / for<ht afeq w1 AW e 8t

AP TepTa TTe 8T 3 W 6 g1 B71 SgHa graT 82

1. Tip-of-the-tongue phenomenon / feu_aiftp-g-ehr ger



2. Recognition error / HI-IdT gﬁ
3. Forgetting / HcIT
4. Retrieval cue / gﬂuﬁﬂ%

Correct Answer :-

« Tip-of-the-tongue phenomenon / feu_aiftp-g-ehr ger

6) What theory focuses on the degree to which new information is mentally analysed? /B a1 Rrgia AR A Ffgd Har % & =|€
TSR} F1 f54 §¢ a6 aHiie ¥ d fazavor fFar srar 32

1. Information processing theory / W—W fgid

2. Relational analytical theory / GSHUURD fa=ervoTa® Rigia
3. Levels of processing theory / UfehareuT Rigid & wWR

4. Deep level processing theory / T@ TR o1 Ufchare o Rigia

Correct Answer :-

« Levels of processing theory / Ui aTHRuT Rigid & TR

7) Impulsivity is a characteristic of the following disorder. / ST (E'F'Jﬁ‘lﬁﬁ') Frafafae faer TP foiyar %I
1. Eating Disorder / U fadR

2. Attention Deficit Hyperactivity Disorder/ &1 3{HId ichadr faeR

3. Learning Disorder / 3T AR

4. Post-traumatic Stress Disorder/ T¥ S{fEIASI a1d [d®R

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ €T 3{HTd JfchadT [dR

8) Who among the following is not a learning theorist? /Fafafead ¥ eq TH AT RrgiaeR qﬁ%”
1. E.L. Thorndike / U8dS U& U85

2. E. Erikson /§. Qﬁaﬂ'_‘[

3. B.F. Skinner / Eﬁwm

4. Ivan Pavlov / $aH UIdAd

Correct Answer :-

« E. Erikson /SF. Qﬁaﬂ:[

9) According to Vygotsky, adults can help a child learn by building upon their knowledge with new knowledge using __ techniques. /

F TR, T aP-P] BT STGN S& Y T4 $ 1Y U 1 BT P01 33 0o 928 31 e | veg a3 9d
1. Scaffolding / ThTHWHITCET
2. Psychological / ARSI
3. Proximal development / THORY faer
4. Ethological / SIS

Correct Answer :-

. Scaffolding / THTHBICET

10) According to Jerome Bruner, _______ representation involves encoding action based information and storing it in our memory / SRI| g

F IR, TR & e Tare sruid SR 2T a1 2 ok 39 o Wiy & wudla e smar 1
1. Iconic/ﬂﬁglﬁﬁ?
2. Figurative/mhaa

3. Enactive / 371@3
4, Symbolic / UHBTHSG



Correct Answer :-

« Figurative / ADPIND
11) Principle of ‘zero rejection’ means — / ‘Y[ \?rl'\ﬁ']@-ﬁf o1 Rigia d19d 2 -

1. no child with disability will be denied opportunity to education. / T35t +ft feaiT 5= 1 e & sfawR ¥ dferd T8t fosan smem |

2. no child with disability will be discriminated upon. /faret 3} f&aaT s=a & Ty Aeura &} favar S|

3. no child with disability will be given admission. / foalT o} fasi s=a &) vy =& faan s

4. no child with disability can be served in regular school setting. / foreft 2t fea s=a Y Fafira faerer e & &Y faan = e 21

Correct Answer :-

« no child with disability will be denied opportunity to education. / ot +ff feaar a= &) fR1en & srawR ¥ dfa =& fowan smam|

12) The Big five personality traits is also knownas____ / a% Ui Safaicd @& &1 - F 79 q Wt ST e %
1. BROOK scale / § b d

2. RIVER scale / TR Tl

3. OCEAN scale / SRR Wb

4. CANOI scale / Fs Wb

Correct Answer :-

« OCEAN scale / 3R Whdd

13) The famous psychologist who established the study of genetic epistemology which explains the process of how people develop cognitively from
birth throughout their lives is: / T8 IS AFIARID oM ATARIS FH-USa AR S AT B RITIAT I, S 37 Wihar It sqremn
Fan § i 5 yoR afd shew i< o1 & ST wU A IeRa ga 8,3 §:

1. Arnold Gesell / 3FTeE T=IA

2. BF Skinner / Eﬁwm

3. Howard Gardner / B1aTS TSR
4. Jean Piaget / EIEAERIE

Correct Answer :-

« Jean Piaget/ ST Tt

14) The cells in the body that conduct information to and from the brain are: /TR ﬁaﬁﬁm ) A& § ok ST& ﬁﬂ! EIECarika]
1. Reproductive cells / USTH m

2. Muscle cells /m?ﬂq m

3. Nerve cells /aﬁmaﬁm

4. Blood cells / Waﬁw

Correct Answer :-

« Nerve cells /aﬁmaﬁw

15) Assuming another person’s perspective is known as: / fHi1 3= kT & TPV B TgUT HRAT&:
1. Role strain / 4f¥dT gaTd R1d %)

2. Role making / Yf¥eT fafor (e Afdm)

3. Role distance / YA g3l (/1 {$q)

4. Role taking / HfHeT T (1T <fdm)

Correct Answer :-

« Role taking / '{mﬂ')—[a—'ﬂ (ﬁa%%ﬂ)



16) Which sense takes the longest to develop? / foa ?ﬁﬁ & faeiRE 'b;ﬁ' ¥ frpdH g Fdr %?
1. Smell / oI

2. Hearing / Hoddl

3. Taste / G

4. Vision / Ef®

Correct Answer :-

« Vision /€f§

17) Which of the following is the final stage of reasoning in post-conventional morality according to Kohlberg? / fafafead ¥ e

Flgaatt & TR IWR-AGETd AAFHar & ab 1 sifew aRor g2

1. Morality of universal ethical principles / Frdcfee Afad 11?@[ I Afaedr

2. Morality of contract / wsﬁ?r B! Afaewar

3. Orientation toward punishment and obedience / GUS 3R 3HRIT T 3R SRCE
4. Social concern and conscience / HTHTISIEH ﬂ%ﬂ’{ﬁ IR faas

Correct Answer :-

« Morality of universal ethical principles / Frdcfifre Afad H;Fﬁ I Afaedr

18) Grade Acceleration is recommended for educating the children. / gl B fQ'IﬁR‘I ek ﬁl‘({ I @01 B RGBT B et
21

1. Normal / HTYRUT

2. Disadvantaged / dfea
3. Gifted / GfcHTRITER

4. Backward / ﬁ@%

Correct Answer :-

« Gifted / TRl

19) According to Freud, the term hysteria describes:/ WIS & 3R, R 2reg o1 31ef 2:
1. A phobia of animals./ STFaR] &1 T WIS

2. A phobia of people / Y 1 T Hiferr

3. The physical reaction to mental trauma./ ORI JHTaTd & %I'Q RIS ufafear

4. The physical reaction to emotional trauma/ HId-THD T & forw wmdifves wfaferan

Correct Answer :-

« The physical reaction to emotional trauma/ HId-TTHP HTETd & forg wifes wfafsan

20) Behaviorism was founded by / SIERAIE 39 GRT TR far 4T T
1. Tolman /a?ﬂ:l:{

2. John B. Watson /Gl'\lltf_sﬂ CIGNE]

3. B. F. Skinner / @Wm

4. Thorndike / iﬂw

Correct Answer :-

« John B. Watson /GI'\II:W& CIGNE]

21) Which of the following is not a characteristic of the discussion method of instruction? /fFafifEa & ¥ w1 3w & AR TS Ft e
forroa 76t @2

1. The learners are trained for reflective thinking. /%ﬂ%ﬁﬁﬂﬁ%%ﬁﬁﬁmmm%l
2. It involves competitive cooperation. /sﬂﬁuﬁweﬁwﬁnmﬁa%



3. It is an oral and written method of instruction. / g ?-IEQ ﬁ@m@?ﬁi@ﬁ U d %’I
4.t is a group centred process. / I8 U AR Hisd Uiehar 3|

Correct Answer :-

« lItis an oral and written method of instruction. / dg EléQ a’:"rwﬁr@waﬁ?ﬁrﬁ@a Jx a%l

22) The shape of one’s nose is determined by: / Tt @1 TP T MHR 39& g1 Auffea giar f
1. Geography / ’f’hﬁ

2. Environment / TOTaR0T

3. Heredity / STIdfRTamar

4. Culture / ﬂ@ﬁl

Correct Answer :-

« Heredity / STATRIdT

23) Learning should be focused on: / SftFm R m%&aﬁmmaﬁq
1. what child is learning / ST T HTPTH B el %

2. performance / e

3. getting job / BIERIRISERG]

4. marks/grades / 3P/ IS

Correct Answer :-

« what child is learning / ST T 3T PR IET %

24) According Jean Piaget, children develop abstract logic and reasoning skill during ./ o4 s & YR,
Hivrd e fRa a3

1. Concrete operational stage / Hﬁﬂﬁmm S{IRIT
2. Formal operational stage / &Iﬂjf Tfhard® sfaRT
3. Preoperational stage / Qﬁ— Tfrare®m s

4. Pleasure / 3G

Correct Answer :-

« Formal operational stage / G'I'H\?f TfhaTad Sfawir

25) The method which is based on the fact that students learn association, activity and cooperation is known as: / dg fafr st s aaf w

3R it @ & o= aMRe ey ok weai W 8
1. Problem- solving / GHXIT- YHTYTT

2. Project / TRATSIT

3. Demonstration / TGRH

4. Discussion / foaR-faust

Correct Answer :-

. Project / TSI

26) Inclusive education requires that schools should be free from the effects of negative forms of ./ guraxft Rrefor & ﬁl‘l! STagh %
& faemem, F TPRIHAS ¥4I & YYTT & Tad Bl |

1. Imbalance / 3rEeT
2. Differentiation / S{dhdl-
3. Diversity / fafaerar

4. Discrimination / Y&UTd

Correct Answer :-



« Discrimination / U&UTd

27) A commercial advertisement of food produces saliva in our mouth. This is because of . /| M\SF &7 T AT fAge- g9 4g § aR
F1 IATGH Bl 8| TAB aolg H

1. Operant conditioning / SR HSIRTT

2. Sign learning / Ticiep S{EATH

3. Classical conditioning / FATRID T Do =T
4. Latent learning / Tt 3{fRTH

Correct Answer :-

« Classical conditioning / FAIRIGH A Dol

28) helps the visually challenged people to read and write using finger tips and special aids. / A7EN @ 1 el B R

R 3R Ay w1v= ¥ SuahT gRT ve ok Rres & YeTdaar sear 2|
1. Lovass / qdr

2. Braille / Sid

3. Idea books / TR qXeds (3mefear gaw)

4. Idea starter / fOOR URYS (3Msfea W)

Correct Answer :-
« Braille / §@
29) CANCELLED

According to John Dewey, the teacher plays the role of a in the learning process. /ST 3q & YR, Riere siftrma &Y ufthar & Udh
Ft yYfrer Ryt 21

1. Guide / ARl
2. Facilitator / JAYR
3. Partner / ITf}

4. Philosopher / GR[AR %

Correct Answer :-

« Partner / T

30) CANCELLED

Stress affects learning negatively by: / TATd FPRTHD =4 { e o1 yuifad sar %I

1. causing learners to act out or zone out./ &f&iTﬁfEﬁ Eak-aukRe f?fq ORT HRTI

2. teaching learners to improve their behavior./ 3 dgR o JYR AP ﬁ'l'q fQT&ﬂm Eal Tl

3. encouraging learners to discuss their problems with peer. / IR 3 1Y I ! TS W =t B & forg Renfiay oY viemfea s
4. releasing adrenaline./ Q@fﬂ?ﬂg_rf SR BT |

Correct Answer :-

« causing learners to act out or zone out./ enff M e HA & T%'I'Q URa BT

Topic:- General Hindi (L1GH)

1) ATYAEN 7 U TR B T8 FId T7a18 81 ITP A 954 Gera-1 Siirar W} Tramr 81 39 FaT S 9gd UH 81 4= Bt ) 781 @ 3R o g A8l gl
e PR & omeh &1 pa-ue, Iweal F e # T el | Ioddr g U 3 959 ST T 7 | 9w 2t 3% U ST 81 3 6t o9 o 3 el g
Wt B SR MU HE T BT §) AT 8 99 BT & q16R I R a6 SAGIBR AU-E & AR I8 T W 964 ¢ 3R Upfa 3 BT Fera §1 378 Ul 379% 74 &t
e frereht 31 ot g ot S farie-waf 57 €, 1Y Y Uy 3@ gu Bl 599 ) Wew ) W A v wara @ wure A Tun #) W@ Bt yify TR 39§

IR TN BT UgH? A AT 7T vl F IR 9arzd
TR A B iR FEa & T anad 82
1. 9qf/



2. faem
3.9y

4, 3G

Correct Answer :-

2) AIHGERT A Ut WRIR F T FSt a7ars |1 TP WA ggd Gera1 wiitan off aran ¥ 1 SHS) Han A 9gd 0¥ g1 U9 Bl 76 § 3R o g e man @1
TR AR & omeh &1 pa-ue, Ieeal @ e # o el | Ioddr g U 3 959 ST T 2 | 9w ft 3% U ST 81 W Y o o 3 et g
STt 8 SRR STRIHTA S T BT 8 1T @ 99 HIST F qTeR TGk W a6 SAAIHR HHG F UER 98 T W 964 7 SR 7o ot ve1 fFera 1 578 a1 39 79 31
e frereht 31 vt g0 ot S farie-waf 57 €, 1Y oY Uy 3@ gU Bl 59 ) Wew ) W7 A v wara @ wure A Tun #Y W ot yify TR 39§

IR T BT UgH? - AT 7T vl F IR 9arzd
TR SHTHATT HT YATgar 2reg TEY 32

194

2. 3FR

3. &R

4. TP

Correct Answer :-

3) AIYGERT A U FTHRER B T S aa1$ 7 1 SUP THA Tga Yera-1 Fitran ft avrarar 31 9! Far & 959 90 21 49 B F 98 | ok I g A mn B
Frox SUSRI & Smeth §1 pa-uld, Twriea A vl & o WAl § STadr g Ut I 9gd 3resT avrar 8 | g o $9% U S1wl 8| W Bt v o it et e
Sl B SR ST FE T BT §) AT 8 99 HIY S q16R T R 9 SAITHR AI-E & AR I8 T R 969 T 3R vpfa 3 Ter Fera §1 378 9 396 79 &t
it Rreret 81 oy 5T a 37 faiie-wrai ®ed §, 8 o U 7@ g¢ B ged 31 Ao @i Yg § oy e € wara #§ dean oY 9y $1 Yifd TR 34 81

IUT TN BT UgHR A AT 7T wsil F IR 9arsd
R “Go BT gt Weg T8 872

1. gH

2. 79

3. $gH

4.9

Correct Answer :-

4) WY A U HTHRER Bt T2 BT 99a1S 31 ISP AHA ggd GeTa-T Fiitan ft araran g1 396! Sa1 & 9gd 99 @1 49 31 Hit 78 € ok oo g 18 T B
TR AR & Smetl &1 pa-rd, werfeal & giel § ) BaR! # STadr g1 U 3= 984 33T avrdT & | THg Wt 39 U $16! 81 W & o9 39 # et e
STt § 3R STTAT B3 T HT El 1T @ a9 BIdt & qTER Igav TR aed SAIhR TG b TR I8 Teid W 9od & iR Ui it gel FgRd &1 378 Al 39 7 &Y
i frereht 81 frr gu ot SR faig-=mif ova €, 76t oY U 7@ U BT g6 ) oo &) He # fou e & @ura § Ho &1 Wy #t Wify TR ad §1

IUded TN B UgR e T T usil & SR wargd
TR el § 7 ared 82

1. BT A1 Y & 4FT § &1 AieT fasmad

2. ICTS 91 IR e

3. fiasug

4. gd 1 3fiG aTet reR

Correct Answer :-

« BT A1 G & YT 1 Hiel fosrad

5) WYTER A Ut TTHRER Bt T HIST 97018 71 SUP W9 I8 GeTa-1 Fiiran ot Traran 81 S5 Har & 9gd 99 81 99 Bt St A8 § 3R o g E mar g
Frox AR & el &1 pa-ud, Terieal & g ? o BaR! § ITadr g1 U 3= 9gd ST avrdT 8 | THY Wt 39% U $1W! 81 XMW & o9 39 31 IRt e
STt 8 SRR STRIHTF S T BT A1l @ 99 HIST F qTeR IgaR W a6 SAAIa? IS $ UK 98 T R 984 7 SR Ui ot ge1 fFerd 81 578 91 39 19 &1
it frereht 31 frr gu ot 9 failg-=mi ovd €, 76t oY U 7@ 5U BRif §o &1 Yoo & Yo # fou wara & @ura § Hoa &1 Wy ot yifd T9R 3 81

IR T DI UgHR - AT 7Tyl F IR 9a1zd
U OgeRT W e A A T g
1. fad=h

2. dcqH



3. dwgd
4. I

Correct Answer :-

6) TTYTER 7 Ut TTHRER Bt T ST 977018 71 SUP AW g JeTa-1 Firan ot Traran 81 S5 Har & 9gd 99 81 99 Bt St 78 § 3R o g 181 mar g
Frox ATUSRI & Smetlt &1 pa-ud, Tereal & g # o BaR! § ITadr g1 U 3= 9gd 33T avrdT 8 | THY Wt 39 U $1W! 81 XMW & o9 39 &1 IRt e
Wt B SR MU HE T BT 81 Il & 99 BT & qT6Y Iga¥ R a8 SAGIHR A & YeR 98 el W 964 ¢ 3R ypfa 3 Ter FeRd §1 378 9wl 39 79 &t
i fraeht 81 fr gu ot 9 failg-=ai ova €, 76t oY U 7@ 5U BRif 5o &1 Yoo & Yo & fou wara & @ura § Hoa &1 Wy ot yify T9R 3 81

IR T BT UgHR - AT 7Tyl F IR ga1gd

U T & HUG BT TR HAT ST 22

1. HAT TAH HE 317 81 Sl &

2. FaafeA sl i ca o 8

3. fem1 Y i g S @ SR ST 5% T 1 8 STl &; 3
4. fAH i g o @

Correct Answer :-

. foT ) mif aa o R 3R SeHH &% S BT 8 S ©; el

7) HIYAETT A U FTHRER B T HS a9aTS 21 S0P TR Tgd Yora-1 Fiiran ot avrarar 81 6! Far & 959 00 21 49 B F 98 8 ok = g A mn 2
Frox SUBTI & Smeth §1 pa-uld, Twiiea A gl # o Bl § SSadr g Ut 3= agd 3T avrar 8 | g o S U S1wl 8 | W Bi o o &t el g
SRt 8 SRR SRIHTT S T BT 8 1T B 99 HIST F q16R IR W T SAIHR HHAG F TR I8 T W 964 7 SR 7y ot ver fFera 1 378 ar) 39 w1 31
e frerht 31 v 5T ot Y farie-waf o7 €, 1Y oY T 3@ gu v 599 ) Hew ) W A v wura @ wure A o #) W ot yifs TR 3§

UGS T B UGH A1 3T 7T U4l F IR g8
e Sty F orfty aa 32

1. Uy

2. HRD

3. fof

4, o

Correct Answer :-

8) HIYGEN A 3Tl TTHRHR F} T IS ga1S 31 TP T gga Fera-n Fiitan off Traran 1 90! Far A 9 39 31 47 B Helt 7 } ok s g A mar g1
Feox SUSRI & Smeth §1 pa-ud, Twrieat A Sl & T WAl § ST g U I 9gd 3resT avaT 8 | g ot 3% U S1wl 81 1 @i e o ot et g
Sl B SR STIAT FE T H1 §) AT 8 99 BT S 6% TGy R 9 SAITHR AIE & AR I8 T R 969 § 3R vl #Y Ter Fera §1 378 9 39 791 &t
it freret 81 oy gT ot S fsiie-wri ®ed §, T8 & U 7@ gU B ged 31 Few @i Ye § oY e ¢ wara #§ dean &Y au $1 ifd R 34 81

SUded TN B TgHs 9 oY T usl & SR warsd
UHH: WIYaEN 59 TSR & omeH 37

1. R i ara

2. g8 sfredl arel

3. e At e

4. BAR 3R IR g

Correct Answer :-

o R SR A

9) HIUFEN A ST WTHRER Bt T HISt a9a1S 81 ST ATHA 9§ YeTa-1 St 1t rarn 1 ) Ferm & 9gd UH 81 4 B it 161 § o e g T mn 81
TR AR & Smetl &1 pa-d, Terieal & gvl # ) ARl # STadr g1 U 3= 9gd 33T ardT & | THY Wt 3% U $T1W! 81 W & o9 39 # et e
Sl B SR ST FE T HT §) 1T § 99 BT & q16R T R T SAATHR AAE & AgR I8 T W 954 ¥ 3R i $) Ter Fera §1 378 9 3979 71 &t
i frereht 81 fr gu ot 9 faig-=mi #va €, 76t &Y U 7@ 5U BT g6 &) oo & Yo # fou wara & @ara § Ho &1 Wy ot yify TR ad §1

I T BT UghR - AT Ty F IR Fargd :
UR: HIYGERT ©1 HISt & WHA o1 Y12
1. O

2. SRy

3. Hed



4. ST

Correct Answer :-

10) HIYFEN A U WTHRAR Bt T HISt 4TS 81 TS ATHA 9ga YoTa-11 sitan oft eraran 81 I e @ 9gd Ud 81 4 B Bt 18 @ 3R oo g wie
B gR MR & amerft ¥ pa-ug, Ieriaal A i ¥ T GoaR) B ST adT g1 U 3+ 9gd ST TTaT ¢ | 99y Y 39% U $Iw! 1 29 HY 99 fo ot el
T T § 3R ATTATT 3 T H1 81 ST 2 99 B} F I1R TGN W aRed SAITHR TG F WoR 98 T R 354 § AR upfa 31 e R §1 3 a9t 395

T B g frardt 31 fr gu ot 39 famie-=af 7a €, 181 & U 73 3¢ i g9 oY e 31 e ¥ fiT wara € e # W &) Ty 3t Hifd TR 3 €)1

IUqed TN B Ug@R e 3T T wsil & SR argd
TH: UIYGGI B T agd ST T 82

1. PERI H Soedl gl urt

2. TYR W So1

3. A ST

4. UPTA B Bl g

Correct Answer :-

« HAR! & ISl gofl Ut

11) YA A 3Tt TTHRER F} T HISt 1a1$ 81 TP A Igd Fera-T sitan off Tramn 1 36! e A 9gd 99 81 47 B Ht g ® SR ogwa g A
B gR N F amerht ¥ 1 Ga-0Y, Iwrieal A e & 0 vaaR) B Soadr gt Ut 3+ 9gd ST aal 8 | 99 WY 39 Uy H1wl 31 W19 $Y 99 fo ot e
T W § 3R RIS T BT 8 A1 & 99 HIST F qTeR TGk W 987 SAAIHR HHAG F WK 98 T W 984 7 SR 7y ot e fFera 1 578 ) 39%

T o1 gy frerelt 81 i g ot SR famite-=af ovd €, 98 of U 7@ gu w=if 59 91 Tew ) He A v wara € @ure A o #) W@ ot yifs TR 3d §

IR TR BT UG - AT 7T uei F IR garzd
U WIY9EN St frd A & 99 ur?

1. P13

2. TR

3. hdl

4. St

Correct Answer :-

12) WIYAS J U HTARER Bt T H1) 994TS 81 IS AW 9gd Fera-T1 itan ff Traman g1 376! a1 & agd 99 81 49 3 Hit 78 @ ok oo g 718 man
B1 R R & emetht §1 pa-uid, Ieriaal A Sl ¥ @ BeaRi & Ioadl §aiT Ul 3 agd SISt AT 81 WY W S U BIw! ¥ 1 W19 $1 wie i 9 et
T T § 3R SRTH F3 T H1 81 ATl 2 99 B1T F IIeR TG W ad SAIHR WIS F UK I8 T R I54 § 3R ypfa 31 e fFera &1 378 9t 395

T B i forerelt @ 1 R g 1 I faeiig-wrai @ €, 1 ot U 3@ §¢ Wil g @1 Wew &1 e § 3 wura & wura # T i Wy B Hifd TuR dd g1

UGS TR B UGH A1 3T 7T U4l F IR g8
U AIYASN e F U d HH 32

1. &

2. ¢t

3. fae

4. 3R

Correct Answer :-

o ol

13) HIYTE A Ot TR FI T HIS} arS 31 TS A I Fera- anftar o Trarn }1 S wen A 9gd 39 71 o Bt Helt 1 R ok s g ad
?1 grax MR & 3rerht ¥ pa-uld, IwTieal | Sl # W weaR) | Ioadr gei UMl 3= 9gd ST avdl ¢ | 9ug i 3% U SIwl 81 A B o fod $Y et
T W § SR SRIAT 5% 1 BT 1 Sl § 99 BIST F a6 Igey W T SAIHR AHAG & WK 98 Tl W 934 7 ok 7o ot 1 fgra &1 3 v S9&
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gfizae ufedcar vt gagagcdi Hqaad -

AH Tced: ¥R 9i8g: 3ed | dF GgEdCda: OFE: Uoled | 379
Gl HEAT: Hiod | UcAhehaT—-AT I H 3Ted | [dcATerd-e1aeied gooamet
faeqd Hs@a [Wegd | a7 &6 oEn s $sfed | 3
fdcATerIET o1gel TcaTiierd UehISol: J2eh Jueh Hied | Ucdeh Jehlsd Teh
HHear 31Ted, I A 3ufderled | Teh FUhoehd 3Ted, IF
3reget: ff@cdr fawd sredied| 37EATh TaedTerd 3Tseierd 3reandent:,
Ueh: hISreATE:, Th: fAfleh:, Th: qEadroTedsl:, usa Hoedgd: T
died | Udh: AlelpR: | AT AT I deoldmeuEer gyRuresd 60T I
HUTT | 37EATh TIeTor ey TIEIoNA: 37EAkh 79 Halcpse: #fafd,
37cT: @ OET: AT [Jedred Yase Tded |

seg  fogarea: SR ufag: ?

* o7l gfdcar INfATESery 9eaTed AgdAcR TIId -

A EAT TlIear a1 hafd T RAT: |
rIfaudTe, aredf fed: ershor arfdd: I

STUEIATI AT FelTaRoT: AT |
ureRitafagie d gfader e Hfer: |

TAEAT hROTA fed: aref: ershor arfdd:-
QRATATRIATT
1. =~



Yoliehl UfScar srenfAfdsery ey Ygec’ gadd -

ACATET TciredT a1 Fdld =l RIT: |
RAIIuATe, Tt fed: ershor Tifdd: |l

SIS AT, FelaaroT: AT |
gieRitafae= d gfaasr e Hfer: |

“fT:” 3fd Jerg felgam: 37fed-

. 2 v
SITEETIE
, D

Correct Answer :-

+

AU IS3T:
. e ]



uf=ae ufScar U2y ﬂﬁd;l,rdi A -

A Tdcamed: ¥R Ufdg: 3HEd | d9 Ggaasdre: OE: Uoled | 3719
G HEAT: Fied | USRI JIHIH e | TIAToT-Ha€T goaamel
faeqd HEnE @egd | dF §d omn HemAd Hisled | 3AEA
facaTer ey sias Icariierd UehIsar: e gaed Hied | Ucdeh Yhss Teh
HEeGr &, I 3fehUe: 3ufdeufcd | Ueh HSUThelehd 31Ted, I
seaet: foflcar fawd srefed| 31EATh faearerd 3isei3erd 3reangent:,
Uh: ISeAd:, Uh: AU, Uh: qEdheTegeT:, uod qedgepr: O
died | Teh: HAp: | 30 3T T JSIdeuraAr gRures &or I
wUTT | 3A fdegroraey gfieaRone: 3 =9 Fafcpse: erafd,
37cT: §S BT AT [GeAqTerd qave Iced |

q-q*@ 3T U -




fRalucerET dodon §&ar 3ifed-

3. ©

4 TedIacer:

Correct Answer :-

JEch AT

28) .
ool afScar renfAfésery vy gl I -

HARAATETar vafd fafg A 9+ |
e[l Hgreme! A i Sfere |

G | ST AN $% Hedig AT faqeoms |
Joosrd fassAfucd facd da fasie fRcd# i

AT 3 TEgig: HIONT-



Correct Answer :-

29)

UR=de gfdcar g2aEd %j;aqagcdi qAqd -

droiFee faeaey Falfas-ufasy Tcg-fAfAdY saay vad [
INRI-AIRI Afdel, IHAATE ddid| deidege [deaed oA adifee-
fafaa staa# s1fea |

SEsiREd g wgele uifdeng: 3w fAAvEead | emeee
uridemeed woeAlsi O oot FAAdTSEge e e Aol Srar |
et qean: RAfeca Jawodd TacAAid | fhed AT RN =Ameiad |
IaT AT FOR=AT dal METeRIg: ¥l Alerse 0T Fzae fdsod
| dar I 3s: %:-“WW!ﬂﬁaﬁﬁzﬁﬂﬁmﬁ:,aﬁ
for>ad sefada & ARG cadl WATRAdeTs ]’ | agsteE ‘dad $id
ufdilcars] | 3d Ud 3TTd iAo, Aeoles], TeT: ‘30 3fed
HFUTATY AroiAgesias  dd-Fhice-Ieal (F59AGR) AT Regd
ALY AYY, FGAd FOUEUNAT FR{CHEAT IRATAHIET  Mef gfdayor
Safed | JTEHA s7ae gdl AN &:, Tl FASTHGORITD:, Giddd: T
AESIE TeA: | dSTHEA-HaAE [HA0T gandefa-avuadideara |
el aEd fAAor Refewcasdhon ca2: serad) HaeAe s Be aRfAT
3TOARRd | 9ida¥ Heder: Sl 3gd Hdedds, G GHEled |
SANEAT-EATAIT &Il TeT  dAlsidAgered Wfdfess To=rsiel gfafaiFad
Hafd dar |1 IERACTRT eeidiar va safd | faevd: ereufvHAmn: wEt

FEEAT: ST RE| dI'C&Q»Ird | ?l'ﬁlN-ﬂ'lld ds?\do'l ¢ oCdl LI'{J-Ild-IIC\ lzlll«w'lcllnt:-(‘l |

Tafhcad 319 fasfeaifed -




Correct Answer :-

4 -~

Correct Answer :-

Topic:- Social Science (SSC)

1 Match the following Education Centre with places.
1.Nalanda A Bengal
2. Somapura B. Kashmir

3. Jagaddala C. Bihar
4. Sharada Peeth | D. Bangladesh

| FrafataT 19T St &1 T F oy e &
1. dteiar AT

2. §HE | B. ®9ER
3. SEger | C.TSER
4, oRer 915 | D. genear

1. 1-A,2-B,3-C,4-D

2.1-C,2-D,3-A,4-B

3.1-C,2-B,3-A,4-D

4.1-C,2-B,3-D4-A

Correct Answer :-

« 1-C,2-D,3-A,4-B

2) The major disadvantage of dramatization is: / ACHI YA BT g9 qhAr %I
1. It is not suitable for all subjects and topics / T8 T fasf 3R wﬁ%mmﬁ%
2. It improves group cohesion / T8 THg ATHoRT H YR el |

3. It promotes self-confidence / T8 SATHIYT HI Sgar Al g

4. It provides opportunity for self-expression / T8 STcH-HTNeART & T SETR UGH FHRar ]
Correct Answer :-

« It is not suitable for all subjects and topics / T8 Tt fawat 3R W‘ﬁ?%’({m?ﬁ%l

3) Which one of the following is not a part of early Jains literature? / ﬁ?ﬁ@ﬂﬁﬁﬁqﬁmﬁ?mﬂ
e i 82



1. Brihatkalpasutra / §ed& U3
2. Acarangasutra / TR

3. Therigatha / Q3T

4. Sutrakritanga / ISP

Correct Answer :-

« Therigatha / DRt

4) The Guptas issued silver coins known as: / w%w%mwﬁaﬁﬁﬁﬁmm%:
1. Karshapana / &uguT

2. Dinara / f&aR1

3. Pana /Yl

4. Rupaka /34Tl

Correct Answer :-

« Rupaka />Urdhl

5) When does Election Commission orders countermanding of elections? / -ITd 3T ifl'lﬂ’fa? Ay & &1 S-H%SII hd a?IT %?
1. In case of scuffle among contestants /Elw Eai | BT'UIUI% & AHEA T

2. In case of booth capture / §Y DIl _Eﬁef &I fRufa #)

3. If nominated candidate belonging to a recognised party dies at any time after the last date of nomination / g forht Argar v uret § ifird Sufiear
BY A B ifaw fafy & a1e fsht ot I gy Y oIt 31

4. If a new party joins the contest / Wﬁéﬂ‘s‘uﬁﬂﬂﬁa@ﬁﬁmﬁa@?ﬁ%l

Correct Answer :-

« If nominated candidate belonging to a recognised party dies at any time after the last date of nomination / e fordht Argar v uret § ifird Sufiear
DY A BT ifaw fafy & a1e feht ot I gy Y oIt 31

6) A Social Science teacher has developed an objective type test but she has a doubt about the reliability of the test. What should be done to
ensure the reliability of this test? / T& |TATor IR Rigred A T TwgfE THR o1 Wi S #1 8, Al 38 Wian 1 R iaar wAdds 8139
e 3t fayaeiaar gfia w3 & fore o far s arfge?

1. Cut short the length of the test / TR0 B TaTS HH DY

2. Increase the number of questions / T4} &1 TS §@TT

3. Try for test retest method / GRI&UT-G:U1&01 fafey &1 o

4. Divide the test into two halves / T80T &I & fewal & fauifiorg ¥

Correct Answer :-

« Try for test retest method / TRT&OI-G.GRter0T fAfY o7 v

7) In which year did India face the Chinese aggression? /o i & yra A A+ smerwor BT [THAT fRan?
1. 1955

2. 1964

3. 1962

4. 1965

Correct Answer :-

« 1962

8) Who acts as a link between the Council of Ministers on the one hand and the President as well as the Parliament on the other? / T 3R

AfuRug 3R gudt 3R HHE & HIY-UTY APUfa & §9 TP Tl & 4§ P SR A1 82
1. Vice-President / G'W'gqﬁf



2. Prime Minister / GeTTHAT
3. Cabinet Secretary / Ffgae gfea
4. Parliamentary Secretary / Sl fua

Correct Answer :-

« Prime Minister / GHTHT

9) Who among the following is considered to be an architect of modern Social Science? / FrafeifEa & 3 f5d snyfare T fagm o1 aRgeR
AT Tl 32

1. Auguste Comte / 3FRC HI

2. James High/Tﬁ"R'-[ETaF

3. Emile Durkheim / @Eﬁg’@ﬂ:q
4. Charles Beard / a1 998

Correct Answer :-

¢ Emile Durkheim / Wgﬁfﬂ

10) Who was not part of ‘Navaratna’ of Akbar? / S[PaX & R BT %WT Cac| T-T'Eﬂ K 1ird
1. Birbal / §R&ef

2. Raja Todar Mal / XTSIl e Td

3. Raja Bhara Mal / XTSIT YR HT

4. Tansen / A

Correct Answer :-

« Raja Bhara Mal / XTSI HR He

11) Who used to be the chairman of Planning Commission? /Th\_rFﬂ ST & aw&raﬁqtﬁ?r%'?
1. Comptroller and Auditor General / IEEEC GﬁT IIFI@@T qﬁw

2. Commerce Minister / aTforeg H30Y

3. Prime Minister / TeTTHA

4. Finance Minister / IEGRE]]

Correct Answer :-

« Prime Minister / TTHA

12) Who developed Sociometry as a technique for assessing relationships among members in a social group? / U% HTHINI® Wi # Wawdl & o
Tl BT BT HA & T T aw-iie & 0 A fre gumatafa o1 e fean

1. J.L. Moreno/@ﬂlﬁ ARA

2. Max Weber / Aad dsR

3. Henry Murray / %:lﬂlﬁ

4. John V. Michael / 59 . HIghd

Correct Answer :-

« I.L. Moreno / 3T AR

13) Akal Takht in Harmandir Sahib was built by: / Mﬂ%ﬁ H 3repTel dved BT fagfor forg g1 foma wa ar:
1. Guru Nanak / T[® -

2. Guru Angad / T 371G

3. Guru Hargovind / & g@'ﬁﬁ?{

4. Guru Govind / 7% Tfdq



Correct Answer :-

« Guru Hargovind / [® &X7 de

14) is the quantity of all goods of imports and exports in a year byacountry./  U®H a'QT gRTTh i % 3mara ok FHafa
& gt wrell B AT R

1. Tariffs / UR[eh

2. Volume of trade / SATIR GRATOT
3. Quotas / PIel

4. Embargo / HTIR-UfeRIY

Correct Answer :-

« Volume of trade / TAR GRHTOT

15) implies severe indictment of the government though it does not require resignation of the Council of Ministers. / T a1
PR & TR arIue @ 2, graife 0 g 4iuRue & 3w 3t srazasmar T8t 21
1. Cut Motion / B! HdTd

2. No - Confidence Motion / 3fa¥T UdTd
3. Adjournment Motion / BHRAH YT
4. Censure Motion / f=eT TaTg

Correct Answer :-

« Censure Motion / fA=aT o=@

16) society feels concerned about meeting the needs of all its members. / ______ TS 30 G+ Aol $t s=wdl i g1 FHF IR
¥ fRfarshie wgar 21

1. Egalitarian / JHMTIHRATE!
2. Elitist / Syfdard!

3. Class Oriented / aﬁaﬁg@

4. Sectarian / GGIRI®

Correct Answer :-

« Egalitarian / JHAIYS R

17) is a process of increasing knowledge, skills and capacities of the people of the country. / A & AR & JH BRI SR
&SN 31 T ) U whbaT §1

1. Human resources / {Id ST

2. Human Capital Formation / HI9d Uﬁﬁﬁﬁm
3. Physical capital formation / ifde 11\??[ fmtor
4. Capital formation / ‘{\_rﬂﬁﬁfm

Correct Answer :-

« Human Capital Formation / HId UL\\_rﬁ fmfor

18) The Rig Veda samhita denotes one-fourth of its hymns to : / Faq fgar o m W—iﬁ?ﬂg Yol B ST-I%? forw ERITIRID %:
1. Agni/ 3

2. Indra / 3%

3. Rudra / ¥%

4. Marut / HIRd

Correct Answer :-

e Indra/ 37;{



19) The matters or subjects of common interest to both the Union Government as well as State Government are included in list/ PE

WPIR MIW WPR A » oI Raramaaifss . FHd @ gl
1. Concurrent / JHIAN

2. Union / §9

3. State / Y

4. Uniform / TS

Correct Answer :-

« Concurrent / FHIA!

20) The government of India established to coordinate the activities of all institutions involved in the rural financing system. / HIRd

WHR A JTeftor s et & e waft S A mfafaied dwwaa S e Swmom R
1. National Board of Agriculture and Rural Development / Tr@tl Ep‘f@( 3R T fyerg S

2. National Board of Agronomy and Rural Development / TI@'C{ ?ﬁf ERIG] AR iy g &1

3. National Bank for Agriculture and Rural Development /Tl'gl'q Q'Tfﬁ 3R greftor fasrg S

4. National Bank for Agriculture Reconstruction Development / T@T{ Q"ﬁf Eﬁﬁﬂm [CEZRECD

Correct Answer :-

« National Bank for Agriculture and Rural Development / T@q Q?‘Iﬁ 3R T fyprg S

21) The song Vande Mataram was first published in which text in 1882. /a% HIRH fa tl??ﬁ IR 1882 ® fo g SIddRUT o YT gaATUT
1. Anandamath / 3G H&

2. None of the above / ijaﬂ R AR

3. Gitanjali / TdieIfel

4. Gita Rahasya / Mar g

Correct Answer :-

« Anandamath / 3HG 93

22) The method of learning in which the students are given an open question and they design investigation methods to arrive at conclusion is
known as: / @ 3t faft foraw s & e sifaffa wy faan wiman @ ok 3 e w ugen & forg s faftra &t fewirg owa €1 Siftem &1 39 usfa &1
& U AAT AR

1. Conformation inquiry / e g
2. Guided inquiry / BHECEIES

3. Open inquiry / @Gﬁﬁ

4. Structured inquiry / RNECSIE]

Correct Answer :-

o Guided inquiry/ﬁﬁﬁﬁﬁﬁ

23) The main tenets of Mahatma Gandhi’s basic education is: /ﬂ?ﬂ"ﬁ%ﬂﬁﬁmﬁw PIHSI ﬁ&"l’d %z

1. Education should develop a strong man / fRI&l &1 T Holgd A7 &1 [ &1 A1

2. Education should be self-supportive / & AR g =fRTl

3. Education should be based on cultural and social heritage of the Land / fQT&‘IT 5‘\3[ A Hi{qvfad) ?rﬁ? graTfore faRmTd oR smenid Eﬁ:ﬂ EIT%'QI
4. Education should be activity-centered /ﬁmnﬁﬁfﬁ-ﬁsﬁaa’—ﬁm%m

Correct Answer :-

« Education should be self-supportive / fRrer s Eﬁ:ﬁ?ﬂ%m

24) The process of hiring an outside contractor, especially from foreign countries, to perform their work is termed as ) fRvwTd

faa=h 3= & T ared SHIR 1 Frgea w3 @ witea, R 6 vl 1 Frenfea fsar s ads & w0 4 gRYIa ST e 21



1. Outer Space financing / ST&I ¥f<T [EGEIRI
2. Overseas financing /ﬁ?ﬁﬂ faqareoT

3. Outstation sourcing / STel T EIGR]

4. Outsourcing / m‘%wh?m

Correct Answer :-

« Outsourcing / a’%ﬁﬁ?ﬂ

25) Which one of the following is not a characteristic of evaluation? / fFrafefad # & w1 graie ot e fauar 78 32
1. It implies a systematic progress / SH®T T U FafRud wifa 9 81

2. It is a continuous process. / I U Fdd UishdT |

3. It always assumes that educational objectives have previously been identified and defined. / I8 FHI HHT ST ? fr Qféres Ie=al & Ugd g 3R
afeiRya febar B

4. 1t does not give emphasis to personality changes. / 98 Sfadd IREdH R SR el & B

Correct Answer :-

« It does not give emphasis to personality changes. / Ig g TRad IR SR Tel S 7|
26) Which statement about Kabir is correct? / @aIR & a¥ # Cac| AT YA ﬂﬁ %?
i. Kabir Das was disciple of Ramananda. / FaR S ITATHG & R A

ii. Kabir belonged to the Muslim weaver family. / AR 'ﬂ'%l'q gAd gRarR A I
iii. Kabir believed God is one and people just worship him with different names. / HAR BT AT AT F g’?ﬂ Th 2 3N & 3 39 fafre A
Yo B

1. All are correct / 9d w %

2. Only ii // PaH ii

3. Only iii / / Ha iii

4.Only i/ %ad i

Correct Answer :-

« All are correct / T8 TEI §

27) Which of the earthquake wave travels fastest? / frd YHwita 371 & T aw 71fd gl 2
1. P-Waves / Tl-a_d

2. S-Waves /W-ﬂ?ﬁ

3. L-Waves / Qﬂ-ﬁﬁ

4. T —waves / Sl

Correct Answer :-

« P-Waves / Ul

28) Which programme of the Government of India promises to extend livelihood security to the rural households by providing one hundred days
of guaranteed wage employment in every financial year to every household? / HRd URXPR BT P A1 PRI ¢ R A g1 fahig af & Th 1|
a1 Y IR Tren AR ve™ S Ireftor ufeaRt St sreiifaeT JRem 3 F1 e FRar @2

1. Jawahar Rozgar Yojana (JRY) / STdTgX RUSHIREISEI (@TG'I'ITEﬂé)

2. Sampoorna Gramin Rozgar Yojana (SGRY) / wa ISR ST (W.Gﬂ.\}ﬂ? Eﬂ'ﬁ‘)

3. Integrated Rural Development Programme (IRDP) / Qﬁ'ﬂ@_d T AT HrisH (\H'Ig BR fftﬁ')

4. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgTHT et TI'@T[ Freftor ISR TR fAfTe (ﬁ:ﬁ"'ﬂ)

Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HgTHT Trieft T@T{ Trfor SR TR Srfdfay (q:ﬁ’Tf)



29) Which is miniature of the parliament of India at the grassroots level? / JAHd ¥X IR URd Bl UG BT Y =9 |1 3
1. Gram Panchayat / ITH Gamd

2. Gram Sabha / UTH JHT

3. Block Panchayat / i darad

4. Zilla Parishad / foTef ufkea

Correct Answer :-

« Gram Sabha / UTH 4T

30) Which among the following is not function of Central Bank of India? / fafafaa d I = '\qa?l' ¥ 3T 5'%111 Cal am‘fﬁ’r%v
1. Custodian of foreign reserves / faGgft gl HSR BT SHfTREH

2. Operation of Direct Benefit Scheme to the rural poor / gt e & 1%1’& UI& iy ST BT e

3. Bankers bank /W Cakca

4. Controller of credit / 0T (%%‘c') P s

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / TTHIO TRIa & e Tedef AT IS &1 dara

31) Which among the following countries typically follows a free market economic system? / fFrafafaa a"«’ﬁ'ﬁ I BT %‘x’l, Had dIeIR
e yomTeht T SRR HRaT B2

1. Cuba / &g@T

2. South Africa / Q&[0T STbTehT
3. China /94

4. USA / Uad IT9 a1

Correct Answer :-

« USA / 9gad I 3ERIaT

32) Which mass based organization’s initiative led to the passage of Right to Information Act? / T BT SR srftifFaw wiRa FeA & f%nz
o angfe® sruiia ITe+ $t ugd §52

1. National Campaign for Human Rights Initiative / HHaTeR ugd & forg TI'@U S
2. Great Legalisation Movement India / HgTH et m HRd

3. Mazdoor Kisan Shakti Sangathan / HolgY foraT =Ifad TTe

4. Self — Respect Movement /  Td-HHTT KICGE]

Correct Answer :-

» Mazdoor Kisan Shakti Sangathan / HSIG foraT =ifad TTe

33) Which Commission was appointed by the Government of India to bring changes in secondary education system to make it better for the
nation?

/ HIRD EYHR GRT f6H ST Y 1Y & fIQ dgax 7 og wreafies Riam yoredt # sqema = & e frge fasar ur
1. Mudaliar / G&IEAR

2. Srikrishna / Sigsom
3. Ramaswamy / AT

4. Kothari / PISRI

Correct Answer :-

« Mudaliar / Hﬂ‘lﬁ“l’qﬂ

34) How much time difference is there between two longitudes? / 31 A=Y & i fra=r Ty SiaR glar 82
1.2 min /2 fAFE



2.12min/ 12 fiFe
3. 8 min/ 8 fiFE
4. 4 min / 4 e

Correct Answer :-

« 4min/4 e

35) How many ‘subjects’ have been assigned to Local Governments through Constitutional Amendments? / TauT e Sy & Aread

R WHR] o1 foar fau It ma g2

Correct Answer :-

e 29

36) Which of the following is an outcome of pragmatic school of philosophy? / Frafafaa & @ #19 e Rma & HTAeRYADP IEEILEa T gfeomg %: -
1. Project method / fEIerT (u‘réaa fafdr

2. Discussion / IR=raf

3. Team teaching / < fReor

4. Source method / T fafer

Correct Answer :-

« Project method / GRESHT (Meiae) fafer

37) Which diagrammatic representation would you like to choose to show Proportionate Allotment of National Income to different categories? / fafir aforat

H I 3ma & Ui Side B feam & g oy e s fAegur &Y e A
1. Flow diagram / UdTg 3R

2. Time Lime diagram / TTSH A9H 3G

3. Bar diagram / SR 3G

4. Pie diagram / tn‘s‘ Klirect

Correct Answer :-

 Pie diagram / tn‘s‘ 3G

38) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at school with: /?T@"-T uma‘qfaﬂm, 2005 I d91d IX
SR <t @ 7 wpa & arnfore faga &) 9= & Sitaq | 9 gy sisr TR e: -

1. Real life outside the classroom / P& & STGR HI ARATAD Si1aT
2. Life inside the classroom / & & HidR S

3. Textbooks in the classroom / F&T & ITI—O'TIW

4. Teacher's expectation / R1&ie ®1 &M

Correct Answer :-

« Real life outside the classroom / F&T & TTER BT ARATAD Sl1a-

39) The Aihole Inscription is ascribed to which of the following rulers? / ﬁaﬁ@amﬁﬁﬁ?ﬂ%m@amﬁr@anﬁmév
1. Kharvela /@'Raﬁ

2. Bimbisara / fSfRR

3. Rudradaman / ®&alHT

4. Pulkeshin 1l /WW

Correct Answer :-



« Pulkeshin Il / Gefoh il fgdia

40) Which of the following is a plantation crop? / fafefed # @ #19- te gaRuo vaw 82
1. Sugarcane / 4T

2. Cashew nut / PIY]

3. Cotton / HUTH

4. Red Chili / @Tet firdf

Correct Answer :-

« Cashew nut / DT

41) Criterion-referenced evaluation refers to: / HIFGS-H\ d Hedidp BT areqd gl

1. Evaluation based on a set of predetermined criteria / Jd feiRd AHES & T Y F SMYUR WR Y HRAT

2. Evaluation conducted without any arbitrary norms / fa&t +ff 7= TFES! & Yot & a1 smaiford o
3. Evaluation carried out after conducting pilot test / TR TRI&0 S & TG Gedidh HAT

4. Evaluation administered as post-test mechanism / Jeie & STG URIE01 04 & U H TRITRIG HAT

Correct Answer :-

« Evaluation based on a set of predetermined criteria / E&ﬁﬂﬁ?ﬂ AHES! & T T F SMYUR TR T HAl

42) In collaboration with an organization in which among the following countries, the Ministry of Earth Science has launched ‘Project
Varsamana’ as a cornerstone of the Indian meteorological department modernization programme? / T® S P weunT | fFafaf@a T a4
frad, gt fagm damer 3 wRdg W T snyfRateor srfea Bt snuRRrear & w0 & ‘Wieiee aufar yrRwy fFar 82

1. France / %19

2. Russia / =9

3. USA / 3R
4. Germany / Gﬁ

Correct Answer :-

« France / /g

43) CANCELLED

Which of the following is the narrowest strait of the world? / m T P gﬁm &1 Jad G 10l TS HEHE (\_rl?mﬁf) %?
1. Strait of Dardanelles / GTGi-esT SIS

2. Foveaux Strait / BIdl STerifd

3. Bab-el-Mandeb / 916 3 <

4. Strait of Tartar / TR B Ay

Correct Answer :-

o Strait of Tartar / C R B Tadfy

44) CANCELLED
Which one of the following is not included as a function of summative evaluation? / mﬁﬁﬁmm%ﬂ%wﬁmﬁqﬁ
?

1. Promoting/EﬁT\‘ﬂE:T

2. Selecting / TG HAT

3. Discriminating / faleart
4. Crediting / 99 &

Correct Answer :-

« Discriminating / ICRcEa L]



45) CANCELLED

Which one of the following is not a characteristic of critical thinking skills? / fFafsfea A A s RO B BT Th farrwar qﬁ%"
1. Being time consuming and laborious / 3T/ T = arar 3R ufsredt g

2. Being resourceful and creative / 18 AUA 3R TITHS AT

3. Being systematic and deductive / afRUd 3R g g

4. Being reasonable and rational / I 3R qHTE g

Correct Answer :-
« Being time consuming and laborious / 38/ Tz A arar 3R TRt g
46) CANCELLED

The industry which produces machine tools which are, in turn, used for producing other goods for consumption purpose. / 98 I ) w=f

SNSIRY BT ST FHIaT 8, Wil daa &, IUHNT F I A 37 aeg 3 FT IdTe H & g IughT {5 v §1
1. Fiscal goods / TSRS AT

2. Capital goods / USTTTd AT

3. Consumer goods / SUHITIT TEIY

4. Perishable goods / @RI §I aTel AT

Correct Answer :-

47) CANCELLED

Who translated Ramayana and Mahabharata from original to Oria language? / ¥l I Gﬁ%aﬂ YT § IRATOT 3R HETHRA T 3dlq T
far?

1. Fakir Mohan / W Hﬁ%?[

2. Madhusudan Rao / HYJ &7 1d

3. Radha Nath Ray / T4T Y

4. Lakshmi Nath Bezbarua / A&H AT SSa0 311

Correct Answer :-

« Fakir Mohan / B&®R Iﬁ'EFI

48) CANCELLED

The cold layer extending up to the ocean floor is called? / GHg d¢l TP el 38 WRa B A gl SITdl %?
1. None of the above / wﬁaaﬁﬁaﬁ%ﬂﬁ

2. Epilimnion layer/mﬂﬁmm

3. Thermocline layer / uﬁ%ﬂs?m‘d

4. Hypolimnion layer / FISUIfeMa tRd

Correct Answer :-

« Hypolimnion layer / FERINGIREE R G

49) CANCELLED



Match the following:

1. Din-i-Ilahi A Abul Fazl
2. Ram Charit Manas | B. Tulsi Das
3. Ain-i-Akbar C. Babur
4. Tazuk-I Babari D. Akbar

{ TolEfafaa &1 e

1. EreT-u-selgr A_3ge Balel
T FRd A | B. gl g
3. UE-U-3FeT C. e
4. gew-raEll | D.3HsR

b

1. 1-A,2-B,3-A4-C
2.1-D,2-A,3-B,4-C
3.1-B,2-C,3-D,4-A
4.1-C,2-A,3-B,4-D
Correct Answer :-

o 1-A2-B,3-A4-C

50) Continuous and Comprehensive Evaluation has transformed the evaluation system as: / Jad 3R HTUS Jip %Wwﬁtaﬁ
F Fu H wuiaia o g

1. More complex by incorporating too many details / a@ﬁﬂﬁﬁﬁ@ﬁ?ﬁﬂlﬁlﬁ IR 3R 31w Sfed

2. More comprehensive for scholastic areas only / Faa e &t & forg sifdie =i

3. Vague as exact rank of the student cannot be found out / 3T, Ffh & & T Y BT U T TRIIAT ST Whall &
4. More reflective of the entire personality of a student / T8 ®T3 & quf afadcd & fawg & sif¥res fefa=fia

Correct Answer :-

« More reflective of the entire personality of a student / T w%@mﬁa% fawa o siftfes fRid==ia

51) The chalcolithic site Inamgaon of ancient India belongs to which of the following states? / Frafafea & 9 5w =g 3 i YR &1 9
TTYTOT T (TATehI I Up) I SARIG Hefed 872

1. Maharashtra / HERTY
2. Rajasthan / JTSTRITH

3. Karnataka / $ich
4. Gujarat / ToIRTd

Correct Answer :-

+ Maharashtra / HERTY

52) In which of the following session of the Indian National Congress the resolutions on Fundamental Rights and National Economic Policy were

passed? / WRHTA P S & o & & fovw o & Wiferes ot ok gty anfifes Hifa W weew wiiva ford a2
1. Faizpur,1936 / ToTqR, 1936

2. Lahore,1929 / ATER, 1929

3. Karachi, 1931 / @, 1931

4. Belgaum, 1934 / ST, 1934

Correct Answer :-

« Karachi,1931 / &R, 1931

53) The first mass movement against British India was : / fafew WRa & favg ugan oI sfigiad ot
1. Non-Cooperative movement/ﬁ?—ﬂ%ﬁl’\ﬁ\?ﬂ'cﬁa?



2. Swadeshi Movement / T2l 3figiaH
3. Quit India movement/W@@Gﬂaﬂ?
4, Khilafat Movement / @t d Sfigia

Correct Answer :-

« Swadeshi Movement / TGt 3G

54) Margosa oil is obtained from which of the following trees? / AT da frafafaad 4 fea ﬂg J ur ﬁ?ﬂ %?
1. Ficus / Iy

2. Babul / 99¢1

3. Neem / Eite)

4. Bamboo / 919

Correct Answer :-

. Neem/:ﬂ'ﬂf

55) Which among the following is the World’s largest Wetland System?

/ Frafafea & @ o149 9 fay 9 998 g1 3wy yumedt @ed's Riew) 82
1. Everglades (USA) / TaRAIGY (JUYT)

2. Okavango (Botswana) / SNTGBTART ( SedTHT)

3. Pantanal (South America) / U=-TalTd (GI0T 3MART)

4. Camargue (France) / U (S519)

Correct Answer :-

« Pantanal (South America) / U=d-ciTcl (?{f\ &1 \}Iﬁm

56) Scientific study of soil is known as which of the following / fafaf@ada Hal &1 aﬂTﬁiﬁ S T pgadrdl %?
1. Soilology / ﬂﬁ?ﬁﬁh‘ﬁ

2. Pedagogy / PRI

3. Pedology / PRI

4. Ontology / 3ferairsit

Correct Answer :-

« Pedology / PRI

57) Greenland comes under which of the following Jurisdiction? / ',ﬁ:la':"{, ﬁ'ﬂﬁl@a 79 fras GIWR-?RE ¥ 3mar %?
1. Danish / =

2. Norwegian / EICISRE

3. US / SAR®T

4. Dutch / 9

Correct Answer :-

« Danish / s

58) Which year was ‘Project Tiger’ launched in India? / HIRd ¥ fra af & ‘wivtee ergTR’ 3R¥ farar mar 42
1. 1973

2. 1974

3.1971

4. 1972

Correct Answer :-



59) Who succeeded Shivaji Maharaj as the Maratha king? / HRTST TSIl F ¥q # Rrarel! AR BT STRIUGRT 11 T4
1. Shahji / STgsit
2. Shahuji I / =gl I

3. Rajaram [ / XISIRTH [
4. Sambhaji Bhosle / GHTS HIa

Correct Answer :-

« Sambhaji Bhosle / TSt HITa!

60) Social Learning theory was introduced by: / AT IRATT Rigia & GIRT =T T T ATl
1. Sigmund Freud / RATHS ®iaS

2. Carl Jung / Tef T

3. Carl C. Rogers/ﬁﬁ?ﬁ. ot

4. Albert Bandura / 3(ead &gl

Correct Answer :-

« Albert Bandura / e8¢ g1



